
Toplu 3���	�#� +����"
���
2���"
�
�������
/��[��
��

6����
���
��#��
*�������#����	�
� 

 
 

*�,9�
EROL �"
�,��
?7�>�  
Pamukkale Üniversitesi 

-��
�	
�M������U��	�;���= 
Tel: (506=�960 28 36 

E-Posta: eduyguerol@gmail6;3� 

Pamukkale Üniversitesi 
Denizli - Tükiye 

Tel: (258=�296 33 86 
E-Posta: �;	5���@pau.edu.tr 

 
 
 

Öz 
 
A	����	
�	�3������
	�	��	���������<����	����5���
��8	����	�	�	�$�����3����
��	���	���3�53-
	
3�3��
�8!��	�8	�	��
	���	��	
�����	
	�������� ��������
����	�$�����$��� �3��;��3����
� �3����
�����������	��	���	�3���� ���	���	��8	9	��8��������
�����6�A�3$���	�	�����5���
�� �	
�3�3:�
�
8	����	�	�	� $����� 3����
� �3���� ������� ����	����� 
�������� 53�;������� 
3�<3�� $	
�	����	��� �	�
�����
�����6� �������;������� ������� 	
3�3��
� �	� 
3�<3���� $��� �	
���	� �3���� �������
����	��	����	�� <�5������$���	��� �9��� $�� ����	��	���� $	���� �	��53������� �5��	�����	�	��� !�	��
������
�����6� >!�� 
3����� �5��	�����	�	�� �	�;��� ����	��	���� �	�<3������������� �������������
�	
����	� 5�����$��	;	��� 8�$�� $�� ����	��	���� ����� 5�
�	
� 
������	��� �	� �	��mli sistemlere 
�!���������	��� �	
����	� �	� 8	�9	
�	������	$���	
�	���6� 
�
	����	� �	�	�	5�	� ���� 
	���	��	�
3���
9�� 53���� 3����
� 
���������� �	� $��� ���� �3���� ������� ����	��� 3����
� ����������� ����$���
������;���������	���	�	��53�;���
�
����	���
���	��	����	�
	������<������	����	
��3�������	�
��	���
8!�!���	� ������������ 3�3$��� ����	��	���	� �!���������	��� 5	�	�� 5!�	����	�� �	� ��������;�����
�9��������8��;	��$���
3�����6����9�����������	������
	����	�
	����	�����	���	�	������$���
����������� �	�;��� ������� �	�	��	��������� �	� �!�� 
3����� ����	���� 3�3$��� ����	���	�
�!���������� 8	�9	
�	�������	��� ���������� 3���5�� 9�
����� 3����� �	�<3������ �����	��	�	���
�	�	��	������������6�>3��9�������5	�	��5!�	����	��	�8!�	��5�������������;���	�
������	��;��	�	�
�3�����	��	
�	�������5�$��	;	���!ngörülmektedir. 
 
Anahtar sözcükler: �	���	�� �3���� �������� G�3$��� ������;������� ����$��� ������;������� Çok 
kriterli karar verme modeli. 
 
 

����� 
 
A	����	
�	� 3���� ��
	�	��	
�� 
	���	���� ��<������� ��	� $�� 
	���	��	
�� !�	�� ������ ���������� �	�

������������ ������ $��� �	
���	� �������� 
	���	�� ������� ��3$�	��	����� �	� $	��$	����	�
8	����	
�	���� -`����� �	� ���6�� ')(%=6� �3���� ������� ����	��	������ �	�	��	����������� $��93
�
9����������8	����	
�	�3������
	�	��	��3�����������
�8	�����	��5	���	�������
�������� yetersiz 
������� �	�����	���� ����
+
3����� 5������ $����������� �	� !�	���
�	� ����	� �����	��	� �	�����
��
��������5	�	���������8�$����3$�	��	��	�
�����
����5��3������$	�������	
�	����-2�;�	� �	����6��
'))&@� Q8����� �	� ���6�� ')()@� �������� �	� ���6�� (HHH; Finn �	� ����	5�� ')((=6 >!�� 
3�����
��3$�	��	��	�� !�	���
�	� ������� �	�����	������ 5	�	��������� �	� �	�;��� �	�����	���� ���	$��

������5�;�
����	5�	� �������������� �3��������������	�����
����	����������	����	�	��!�	����
	�
	��	��3����
�	�	������$����6 A	����	
�	�3������
	�	��	
����<����	����	
	�����
�	
�������������
8!�!���	� ��������� �������� �3���� ������� ����	��	������ $	���� $��� hizmet kalitesini 

���



�����5�$���	��� 
������;������� $	
�	���� �	� ��8�������� ;	���� �	��	��� ��	� ���
����� 
-M3���3

�5� �	� ���6�� ')(%=. �������� �3���� O3��;��� -')('=� ����<������ 8	�9	
�	������	�� $���
9����������8	����	
�	�3������
	�	��	��3����������5��3�������	$������������$���	����9���$�����
���
5��������	��	�	�	����5�����������3������������	�����	����	
��
3�<3���	��5	��������������������	�
53�;������� 8��	��������� ��� 3����
� ����������� 8�$�� ����������� ��

��	� ��������� 8	�	
�����
3���5��
3�����
�����6�L��������� 
3�<3��
���	��nin ����	������	��	��3��������������9�������
��
53�;�� ��5��������� �����������5��� �������$��	;	���	� �	������	
�	���6 G�3$��� ����<	�	������
��������������� �������
�� �3����� 53�;�� ��5������� 
3���
� ��5������ 3�������� (6/)� �	��	$	����	 
3��������� 
�$��� 	���	$����� 3������ �	�	��	�������	
�	���� -�OC2�� (HHH=6 #�;�
� 8	����	
�	�
3������
	�	��	�$���	�	���������5�
�	
�3������$�����	
�	����-A�������	����6��')(%=6 
 
���� ������� ����	������ �3���� ������� ����	��� 3����
� ���������$���	��� �9��� $	������ �	� ��$��� $���
8��	�8����3�������<�5������ $����mesi��$	���li $�������������<	���	�$�����3����
�����	���	��	���
ve 
�������
� ���	5	�� �	�
	���� 5��������$��	;	�� $��� ����	�� 3������ 8	�	
�	
�	���� -G��3���
')()=6 A	���������
	�	��	�
	���9���3���������������	��	���3�3$����	���5���������;���
�����	��	���
��	� ��������
���3�����$	�������	�	��	�	� ������ -!��	����� 	�8	�����	� 5����=� ��������������$	����� 
������ �	� 8��	�8�������� ������$���	���	� 3����
� �����5��� ���� �3���� ������� ����	��	�� de 

���������
������-F�;��>�		���')(0=6�>!��
3���������	��	��	�����
�53�;��
������	���3�3$����	�
����$���	��
���������
�����6 
 
���
�5	� 8�$�� 8	����	
�	� 3���� ��
	�	��	
�� 
	���erde ����$���	��	� ��������� ���� �3���� �������
hizmetleri��3�3$����	���5�������	��	����5������ 
	���9���3��������������	$�����
���������������
!�	���� �3�� 35����
�����6 #��� �3���� ������� !�	���
�	� 
	���	��	���� �������������� 
5	��	��	�	��	�	��	
� �	�����
�$���5	�� ve 
3�<3��$�
��������3�3�3$��	�	��5�
���������� �����
3���������� 	�
��� ������� ����� 3����
� $	����	��	
�	���� -U��35�� '))0=6 #�;�
 ����$���
����;��	���� doyumsuz �	
�$	�� ����5������� �	� ���<�
� ������	��� �	�	��� ��	� kentiçi ���<�����	�

������
����� 53�� �9��
��������6� ��� 
������
��
� ���	;	� 53�� 
������	� ��3$�	��	������
�3�������� �	�	�� 3���5��� �5��� �������� ���<�
� 8��	��������� �	� �	���
	5	� 8���	���	� �	�	��
3���
�����6 #5��;������$���	�� �9���$	����	�����!�	������
������3������������kün olan her 
�3
����� 53�;�� ������	+$������	� ������������� 3��������� 53�� �9��
�����6 G�3$���	�	� 8!�	�
���������
�53�;��
������	���	� ����������$���	��������	� �����	��	� ���	$��
������5�$���	
� �9���
5�
�	
� ��
��
��� �	����� 5��������� �	� �	�	���� 5	�	��������� �	�	��5�	� �5�
��� 53�;�� ����5���
�

����	����;���8��	���
�	�����!�	����!�9��	��	���
	5	���3
��
�������

���9	
�	
�	����-O	5�����	�
���6��'))4=6 
 

�
	����	��	�	�	5�	�����
	���	��	�3���
9��53����3����
�
�����������	�$��������3�����������
����	���3����
����������������$���������;���������	���	�	��53�;���
�
����	���
���	��	����	�
	���
���<������	����	
��3�������	�
��	���8!�!���	�������������3�3$��� ����	��	���	��!���������	���
5	�	�� 5!�	����	���	���������;������9��������8��;	��$���
3�����6����9�����������	������
	���
merkezi��	�����	���	�	������$���������������	�;�����������	�	��	�����������	���$�������	�
saatlerde ev-��� ��$������	5����� ���	$�����53����3�������!�������$�������������	�	��	�����	���
5����������6� #5��;��� söz konusu ��������� 3�3$��� ����	���	 dahil edilmesi durumunda 
3�<3��
���	5�	����	�5�
�����
	������	��	5�����8	�	;	
��	������	���	�	��	������������6 
 
 
  

���



6����	�
�����
��
�0���	 
 
*���!��
/������
3�1��
3���	�
��
��	� 
 
')('� 5������� $�5�
�	���� 3���� �	������ ���� 2���

��	� �	� �	�
	�	<	���� ��9	�	����	
�� 5�
����
�
600.)))���<�����	�����
�5	i����8��	5$���������
3����������3����$�������5��
	������6��	�
	��
��9	�	���3���������8)�������	�$��9�����������������3������3����
�
�$���	������tir. 
 
"������ ���	$����� 
��������������� !�	�� ������� 3�3$���� ����$���� !�	�� �	�����	�� �	� ��
�� türleri 

���������
�����6��	�����i�	
�� �3���� ������� ���	$��$�5�
�!�9��	�3�3$����	�����$����	�����	���
��	� 
���������
��� 3���� %&� 3�3$��� ��������� H0� ��	�� 3�3$���� (0� ����$��� ��������� PIH� ��	��
����$��� ��	� ������;���
� 5������
�����6 G�3$���	���� ����	� �����	��	
�� 3�������� ����� '(� 
�+���
�
	������$���	�� �9���$���	�	��(0�
�+����	��	$	����������������6�Günlük toplam seyahatlerin 
J%)i����
������
�8	�	����$�������	������	����9���������8�9-S�����-�-S=����	$����	������"������
#��� 2����� -�"#2=� 
���������� �3����� ��<����� J'i��� ��	� 5������� ���	���
�� ��
	��	���
�3��;�����	��	�	����������-�"#2��')()=6 #
��������	������	��	
���	5�����	����8����
��3�����
�	5�����	����J(Pi�����
������
�8	��	����	�	��5�	� $��9����������������	�� ��$�������	� �����	���
�9��� 8	�9	
�	������������6� T3���� ������� 8��	�8�������� ���<�
� �
��� 5!��	���� ����
� 5	��	���� 53�;��
53�����
������	��	<	�� ����<	�	���8�$���	���	���	�������3�������������	��	�	�-����=���3:	���

���������� ����� 9����������� 5�������
� �	��	�������� -������ ')((=6 �	���	ki 3�3$��� �	�
����$���8��	�8�������V	
���(i�	��	���������6 
 
�	�����i�	� �3���� �����������	����	�	��%&�3�3$������������ �3�����8��	�8������������H%0�
��
3����������3���������������	���3��������$����	�����	���5�
����
�0%)�
�i��
�8��	�8�����	����	�
������;���
�5����
�����6�V	
���(i�	���	�8!����������	�	�
	����	�
	����	�3�3$����	�����$���
8��	�8������� $�5�
� !�9��	� 
	����	
�	� 3����� 
	����� ���� 
	����	����	� ����� 93
� 3�3$���	�
������;���
� 5������
�����6� ����$��� �	�����	���� ��
��
� �	� 53�;�� ������	+$������	� 5	��	���
�9��������3�3$�������	���	�8!�	������	��	
�3�����������3��5�������93
� �	�;���	����	
�	����
-A�������	����6��')(%=6���������$����
�	�����$�����5�������<�����3����������	������	��	�����$���
������������	<	����
��������(��
�;���������3�����������$���	��	�
������	����93
�������	�53�;��
����������� �58������ �����+����
����� ������������� �	� �	�	����	���� 5	�	��������� �	�	��5�	�

	���9�����<�����	�8��	���
��3���������	5�����8	�	$���	
�	���6 
 
�0���	 
 
L�������
�����������	������
	�����	
���3���������������	��	���-3�3$����	�����$��=�SZ>"��
���<�
� �3�	��	�	 5�������� ��	� �	�	��	���������� �	� !�;	��
�	� �	�;��� �������� ��������
5����������6������� �9����������3:	���
����������	��	�	���	���-S� ���	��	����	� �3���� �������
�	<	�� ����<	�	��� ��	� 8��	�8��������� 5���������������6� ����$��� ����������
�� ���	��	��
�	�	��	���������� �	� 
	����� <��
��� $!�8	�	��� ��	� �	�
	��� ��� ��������� ��������� �	����� 5����� &�
����$��� 8��	�8������� 3�3$��� ����	���	� ������ 	����	��� ���������� 
3�<3��� 5�
��� ��
	����� �	�
���<�
�8��	�������9���������	�	��	�����	�	��5����������6 
 
 

��	



 

V	
���( Denizli ilindeki 3�3$����	�����$���8��	�8������. 
 

��)�.�6
�����.���		����8�"�	��� 
 
SZ>"�� ���<�
����������	�O3���<�����8��>���	��	���	�-O�>=�5!�	��
��	���5!�	������	����5����
���	��
3������$�������$���5���������6���������#����5���	�
	����2�S�#A����
	�������<������
8	������������ 3���� �	����� $!�8	� �	� ��
	� !�9	����	
�� �58����������� $��93
� ��
	�	�
ku��������
�����6����9���������5���������	��8�9���3������
3���������$����3�����3�����������
���������	�������������3������	��<�5�������������6��Y�������������������������<3�3���<������
�5��� 8!������	��� �	5�� O�>� �	���	��� ��������5��� ��
�� ����� 3����
� 8!��	���	$�lmektedir. 
���������
���3������������3�����ile �3������������	<	���	�8��	�8���������������3�������������
�	�$��93
��	�<3������
���	�����	����	���	�	��	�����	�5������������
����� -2�S��')((=. 
 
 

+��.��
*���	
��
��������
�����	�
����� 
 
*���!��
/������
3�1��
3���	�
��
��	�nin +��.��
*���	u 
 
���9���������!�;	��
�	��	������
	�����9�����$�������	������	��	
��-)I,))-)H,))=��-V talepleri 
��	� 3�3$��� �	� ����$��� 8��	�8������� SZ>"�� 5���������� 8�������� �	� ������ 9��	�8	��� �3����
���������������5�������
�����	�����	�;����������3���5��
3���������6�>!��
3������-V talep 
�������� ����� ��3:	����	�� ����������6 -������ ')((=6 >	5����� ���	$��� 3�3$��� �	� ����$���
8��	�8������������
�
33������������	�������9��	�8	�	���8�$���	���	��5������5���������9��	�8	���
�3�������������������5�������
�53�;����;����	�	��	����	������������6 
 
T����� 9��	�8	��� �������� �3���� ������� ����	��	������ $	���� �����
������ �	� $	���� 8��	�8������
��	����	��	<	��	�����8	�9	
�	������
�	���
�$����5������
�����6�W	��$����3���������������	����9���
����� 	���	�� ���	��	� 
3���������� �����5�;�
� �	
���	� ������ 9��	�8	��� 3�����������
� ����	����
������;	��	���	��58���9�������������������������
�������	� �����<	��3����
������������

��	�
����� $�� 5!��	�� !�	���
�	� 3�3$�� �	� �	��3� ����	��	������ �������� �9��� 3���
9�� �58�����6� ���
������ 5!��	����	�� ���� �3���� ������� ����	��� ����������� 
��
��� �	� ������ ���������� ��

��	�
������
����� -2�S��')((=. 

���



�	��� 8	�	����	
�� $�������� #����� �3��;����� 3������ 53�;�� ��;���	��� V	
��� 2id	� �	���������6 
V	
�����;	�	�������	��
	�����9	������$!�8	�	����	���	�
	����������������	�	�������	����	���	�3����
���	$��� $	���� $�������� (P)))� 53�;�+����	� ����� �	�	������ ��	����	� 3������ 8!����	
�	���6�
���������������3��;�����	��	�	���	��9	������$��8��	����$�3�(i�	�!�	��	�������6 
 

 
V	
���' �	�;����������������6 

 
��$�3�(��	�;������������������3��9����6 

 �"!��9�;
�!������
=�	& �����
-�	 ���.�

�,�
� 
Otobüs 935 3546 30666 
Minibüs 530 32368 94546 
3�1��	 (&P0 %0H(& ('0'(' 

 
��$�3�(i�	�������)I,))-)H,))����������3�3$����	�����$���	�����3�����5�
����
�%P)))�
�i��
�
�	����� 5����
����� 8!����	
�	���6� ��� �	�	���� 5�
����
� JH)i�� ����$���	�� ����<������
8	�9	
�	�������	
�	���6� �3�;���
� �	�	��	��� ��;	�	�������	�� ����$���	���� 3�3$���	�	� 3������
5�
����
�%�
��������<�����53�;��������
���� ��

���9	
�	
�	���6�>�$�������	������	�inde en çok 
53�;�������8	�9	
�	����������$���������� ��$�3�'i�	��	���������6 
 

��$�3�'�>�$�������	������	��	�	��93
�53�;��������������$����������. 
+����"

;���� �"!��9�;
�!������
=�	& ���.�

�,�
� �����
-�	 
>	�����
 6�99 5634 (I0) 
��;�������� 6�86 5266 (P0' 
�	���	��� 9�II 4990 (&H% 
�����5�
� 5�95 3665 (&I& 
Tiyatro 8�86 3662 (('& 
#��<������� 4�95 %&(( P(0 
Fakülte 8�04 3343 II0 
Ulus 9�0( %()' ((P' 
('))�*��	� ()�HI 2945 (%)& 
Akkale (%�90 2883 (P)( 
���	� --- 55645 (H&(/ 
32�>�+  94546 32368 

SZ>"��5����������	�5����������<�
����������3��9������ 8!��	�	����$�3�'���;	�	�������	����$���
����	� �����	��	� 	�� 93
� 53�;������� 8	�9	
�	������ ��
� �!��� ���� ������5��� >	�����
�� ��;����������
�	���	�����	������5�
������$�����������3����
�
���������9�
��
�����6�>!��
3������!���������

���



�������� 53�;�� ��5���� ����$���	��	� �������� �3����� 53�;�� ��5������� 5�
����
� J')i���	� 
������
�
8	��	
�	���6�#5�����������$���!��������� ��$���)I,))-)H,))������	��� ���������5�
����
�P&))�

�i��
��	�����5������
�����6�#������	����5��������������	���9�����������
���	<	����
�����-����<	��= 
60 il�� H)� ��� �����������6 >!�� 
3����� ����$��� ����������� 8��	�8������� V	
��� 3it	� �	���������6 
>�$��� ����	� �����	�� �9��� �!��� ����$��� ��������� 
��
��� 5������� ������	�	��	�� �	�
	��� ���
������������3����8��	��güzergahlarda �	<	��$��������������3��������53�;����5����������
�$�����
3����
�V	
���4i�e �	���������6 
 

 
V	
���3 >	�����
�������5�
�����;����������	��	���	��������$���8��	�8������. 

 

 
-�= 

 
($= 

 
(;= 

 
(d= 

V	
���4 ��;���������-�=�������5�
��-$=��>	�����
�-;=��	��	���	����-�=������������8��	�8������
$35��;�����������	<	��$������3��������53�;����5�����6 

 
V	
��� 4 ��;	�	�������	� P�/P� 
�i��
� ��;��������� ��������� 5�
����
� %�&&� 
�i��
� 
	������	�
����$���	��	� �������� 53�;�� ��5������� ����$��� 
������	��� 3���� (&� 53�;�� �	�	������ ������	�
3������ ��

�� 9	
�	
�	���6� �����5�
�� ��������� ��	� 8��	�8��� $35��;�� 
������	� ��	��� 53�;��
���������� 8!����	
�	���6� �	��	�� ������� >	�����
� �	� �	���	���� �������� �9��� �	� 8	9	������6�

��




U��	������	���	���������� ��;	�	�������	�!�;	��
�	�(&)��	�H)H��������������
��������������	�
������3����/HI���	�(('H��������������
�������������
������	���	����	�-�5�
��=�53�;������������
�3��;���� �����������6� >!�� 
3����� �
�� 
	����	�� $����;�����	� H)H� ��������� ����
� �	������
�
AV�� 5�
������
�� ����
� 3����� ��$��� ��	� 8��	�� �	��3�	���� 3����������� 53�����
� 8!�	�
9�����
�����6� �
��;�� 
	����	
�� 53�����
� ��	� /HI� ��������� ����
��� #

3��
� ������	���
��
���	������ ����$��	� $���	�	��� �	� (('H� ��������� ����
��� ������ ��5��
� M��	���
!��	�;��	������ ����$���	�� ���	�	��� ��	� �9�
����$����6 #����� �3��9������� 8!�	� (&� 
3���
���
����$���	��	���5�
��
��53�;����������

��	�������������'0�53�;��������������

���9	
�	
�	���6 
 
�	������ 
	��� �	�
	����	� ����$��� 8��	�8���������� 8	9����� 53�� 
	����	������ !�	���� $���

�������� ����$��� ������� $��������
�����6� �������� �������	��	� ����$���	���� 53�;��
������	+$������	� <����5	��	����	� 3�3$��� ����
������� 
�������
����� �����5�������
$������������6 V	
���4’de ��;�������� ���������ilk 2 durak��� �����5�
� �������� ilk 5 durakta�  
>	�����
 ��������� ilk 3 durakta �	� �	���	��� ��������� ��	 ilk 2 durakta ����$���	�	� 53�;��
$���	����� 8!����	
�	���6� ��� ������� 3�3$��� �	� ����$��� ����������� ��������������� 
	���	��
8	����������

��	���������������	�����������	�;���������������
���<���53�������na sahip 
olup 8	�	;	
�	� �3���� ������� ���	$�� ����;�
� 3���� $!�8	�	�	� ���������� 3����������

�5��
�����
�����6 
 
��������
�����	�
�����
��
*�������#��	� 
 
A	���������
	�	��	
��
	���9���3���������������	��	�����;	�	�������	�8�������	���5�������	��	��
���� ������;���
� ����	��� 3����
� 
�������
�����6� �������� $����
�	� 3�3$��� ����	��	��� 
���	��
$��������
���	����	���5�������	��	���$	��	5�;���	�����	��3����
�����	���	��	
�	���6��3��5���5���
����
�
������	�	����	 ���<�
�8��	������ile çevr	���	����	
��3�������	�
��	����	�	��5�	�����$���
���	��	�	������özellikle kent merkezlerinde 3�3$�������	��	���	��!������� �����������önem 
������
�����6 L���������� $�� $!������	�� ��;���������� �����5�
��� >	�����
� �	� �	���	����
�����������%P�
3���
��	��3�����-3�����ª�5�
��=�())�53�;��
������	���('��i��
����������
	���9��
3�3$���	������ 
������������ ���������� 
�������������� 3����� 
3�<3�� ���	5�	��� �	� 9	��	�	��
etkileri 3���5��
3�����
�����. ������ �9���!�;	��
�	� �!��
3������!���������5�
����
�(���
�
� 
��
��
��� 9������� (&� 53�;�� 
������	��� ����$���	�� 5	���	� %P� 
3���
��� �	� ())� 53�;�� 
������	���
3�3$���	���� ������5��� %)�� (0�� ()� �	� 0i	�� ��
�
���
� ����<	� ��	 9�������������� ���������� SZ>"��
5����������� ������� 	���������6 #����� �3��;����� %)�� (0� �	� ()� ��
�
���
� ����<	�	���� ���	$��

����������� 5	�	���� 3���5�;���� 8!������� �	� 0� ��
�
���
� 9������� ����<	��� �9��� 	��	� 	���	��
�3��9����V	
���5it	��	���������6 
 
V	
���0i�	��	���	��8��<�
�	��	��%P�
3���
���5�����	��OC2�-(HHH=�����<������3�3$���	��	�
�$���
	���	$����� �	��5	� 3���� �	� 
3���
� ��5������� (6/)� 
������ 
������
� 8	�	�� P0� 53�;�� 
������	���
�	�	��	��� ��$��� 9��8�� 3����
� $	������������6� T���	� �����	��	� $�� 3�3$���	�le ayakta ve oturan 
�3����� ())� 53�;�� ������$���	
�	� �	� $�� 3�3$���	�� ��
	����	� 5�58��� 3����
� 
���������
������
-��O��')(0=6�A��<�
�	�� ��;	�	�������	��0��
i��
� �	<	�� ����<	�	��� �9����!��� ���������())� 53�;��

������	������ ����������� 8!����	
�	���6� �������� $����
�	�� ��;��������� -�=� ��������� �3�����
8��	�8����� 5�
����
� J%)i����� 3�3$���	��	
�� 53�;�� ��5���� /)� ���� H)� ���������
8	�9	
�	��	
�	���6� �����5�
�� -$=� ��������
�� 53�;���
���� ��;	�	�������	�� 8��	�8��� 8	�	����	�
I)� 53�;�� 3���������� ��	� �	5�����	�� 8	�9	
�	���
	��� �	�
	��� ��� ����������� 5�
������������� &�
����
��
� �	��<	� $35��;�� 53�;�� ��5������� ())i	� 5�
�������� 8!����	
�	���6� >	�����
� -;=� ������
�9���8��	�8����� �
��;�� 5���������3�3$����� �3�����
������	���	������������ ��;�
�$�� �	��5	����
�������������

���9	
�	
�	���6�>3��3����
��	���	����-�=������������	�P0�53�;���
�
������	����

���� $��� �	��<	� �9��� ���������� 8��	�8��� $35��;�� 3�3$���	��	
�� 53�;�� ��5������� ())i	�
5�
����������8!����	
�	���6�L������5��
3���3�����!�����������9���	�-��;���������������5�
��

���



�	�>	�����
=��OC2� -(HHH=� ����<������3���5��
3������
�$��� 	���	$����� 53�;�� ��5�������
�5���
�	�	���	��<	�	��$35��;�������������

����9	
�	
�	���6������������!��
3��������������0��
i��
�
����<	�	��	� 9����������;�
� 3�3$���	��	
�� 
3�<3�� ���	5����� 8	������� ��
	� ���������������� ��������

���;�����	
����	��	�	��	������	$����6 
 

 
-�= 

 
($= 

 
(;= 

 
(d= 

V	
���5 ��;���������-�=�������5�
��-$=��>	�����
�-;=��	��	���	����-�=������������3�3$���	��	�
���������3��������53�;����5�����6 

 
L������� 
����������� ��$��� ����	� �����	�� $35��;�� ����$��� �	� 3�3$��� ����	��	��� ��	�
8	�9	
�	������	;	
� �	����-
���	�	��	���	�$�����3����
�3���5�� 9�
�;�
� 5�
��� ��
	������	�	��	���
�	������������6�>����������$����	�3�3$����3<!��	��� ��	�5�����������
�������3��;��da kentiçi 
53�;��������;���������
��������������$���	����3������� )6(I���+
�����	��5�
�����
	���
�	�����5���
�	�	����('��i��
�3�3$���	���9���)6&0���+
���	��	$	����	�3������!��	���������6 �	�;���������
�	�!�	���	�����	��	��������9����	���������5�
�����
	������	�	��	�����$�3�%i�	��	���������6 
 
��$�3�%��!�������������������������9���5�
�����
	������	�	��	��6 

 Minibüs Otobüs 
���
�#� �����
-�	 �����
�"����	� �����
-�	 �����
�"����	� 
>	�����
 (I0) 'HI�5 350 (0I�5 
��;�������� (P0' 280�84 330�4 (&/�68 
�	���	��� (&H% 253�/( 298�6 (%&�%I 
�����5�
� (&I& 250�58 294�8 (%'�66 
3�1��	 6369 ()/'�I% ('I%�8 0I%�'( 

 
��$�3�%���;	�	�������	��3�3$��	��!�������!�	���	���!�����������$���'�������
����	�	���
	���	��
���	�� 5�
��� �	�	������ ()/%� ��� �	�	����	�� 0I%� ��� �	�	���	� ���	�	
� 5�
����
� J&Ii��
� 5�
���
�������<�� �������$��	;	��� 8!����	
�	���6� F��
��� ���9������ 
���������� �	���ik motor türlerine 
8!�	� <��
����
� 8!��	�	$��	;	
� 	���53�� �	�	��	����	� �	� ����	���� 3�3$��	� �!���������	���
���������� ������� 3��;���� �	� 9	��	�	�� �9����� ��� !�	���	�� �!�������� <�5����� 3��;����
�	�	��	������	$����6 ����� 	
� 3����
�� 
	���9�� ���<�����	� ��$��� '� �����ik dilimde dört hattaki 
���9������ 5���;���� P&))� �	����-
�� �	�	������ 5�
����
� (%))� �	����-
�� �	�	���	� ���	;	��� �	�

���



���<�
� 53����������� <����� 3������ 53�� 
	����	����	� 8!�	li $��� ���������� 3��$��	;	���
�	�	��	������	$����6 #5��;�������$���5	���	�3�3$���
��������53�;�������3�3$���	��	�$�����
�����

��������
��;�	������
��������
��������<�5����������������!��
3�����3��$��	;	
���6 
 
 

�������� 
 
A	���������
	�	��	�
	���9���3���������������	��	����	�
��������������������!�;	��	�
 	�������
3���� ����$���	���� 3�3$��	� �!���������	���	� ����
��� 9���������� ��
	����	
�� $�5�
�	����	��	�
8��;	��$��� 
3�����6���� 9�����������	������ ���� 
	���9�� �3���� ������� ����	������8	�	���������
�	�	��	���������� �	� ����$���	���� �3���� ���������� ������� !�	���� ��5� 3���5�� 
3���������6�
�3�;���
� ���	$����� ����$���	��	� 
��������������� 
3�<3��� 9	��	� �	� ���<�
� 8��	������ �9��������
���
� 3�������$��	;	��� !�8!���	�� �!��� ������ 3�3$��� �!������ ������ !�	���������6� ��������
�������	���3��;������!��
3��������������3�3$���	����
����������������������5�
��� ��
	������
t3���� ���������� 
	��� ���<����	� 8	���	;	��� ����	� 5�
� �	� 9	��	� �9�������� 
���������� 3��;����
3���5��
3���������6������������	��	�	�	��53�;���
�
3�<3�����	��3�����������
����3�����5�
���
53�;�� ���������� �9�������� ���	�	�������	�� 8	������� ��
	�	��	
�� �������������� 5�
�����$���	���
�9��� 
	��� 8	�	����	
�� 3�3$��� 8��	�8���������� $��� $����� 3����
� �	�	��	������	�	
� 5	���	��
���	��	��	��� 5����� 53�;uluk ���	$�����
�������������������� 5�
�	
�
������	��� �3���� �������
����	��	������ ��5���� 8	9�����	������ 8	�	
��� 3������ �	�	��	������	$����6� �������� 
����������
8	�9	
�	������	�� �!������ �9��� 8	�	
	�� 5��������� 	
3�3��
� �������� 9������� 
������� ��������
$���
��������6 #5��;� 8	�	;	
� 9���������� 
����������� SZ>"�� 5����������� makro ölçekte 
modelleme yap����� ��

��	� �������
� �	��������� �	�	��	���� saha 9��������������� 	��	� 	���	��
�	���	��	�
���$�	�	����	����	����������5�
����������8	���������	����	�	<�	��	
�	���6 
 
 
3�����"� ���9����������8	�9	
�	�������	����	�
�����������	���	���� ������������	�������3����
T����� ���	��	�	��� 2�3:	��i��	� 
��
���� $������� 2���

��	� 
���	����	��� "��������� #���
!��	�����5	�	���	��	��	��������5�
�	�����	�	��5	���9��������������	�	

���	�	���6 

 
/�,������ 

 
��O (')(0= ����,++NNN6$�;�	�����6;3�+�C+���;���+53�;������������;��������	���	��� 
��;��$	��	�;$�('���3�36���
 

 -�3��	������������,�)(6)%6')(0= 

���������3����O3��;���(')('=  

 

2�$��;�������3���]�53��8��	3��	����>�<<3�
,�53�����������	���
report. 

O	5�����W6����������6V6��W���	�$��	���>6��	�O	�8����G6 (2004= A	�	��;���83����������3�;���3�
	������	� $��� ���� ������������ ��$��;� ������3��� ��� ��$��� ��	��6� ()��� _3���� O3�<	�	�;	� 3��
������3���C	�	��;�
 

. 4-/�`��5�������$��6 

������')((6��	�������3�������������	��	�	�2�3:	����	���
�*���leri
 

6��	�������	�	��5	��6 

�"#2�')()6��	������"������#���2������	�>��	9��!�	����
 

6��	�������	�	��5	��6 

F������6 and ����	5��O6� (')((= "�$���$����	���;	������	�	�3���8�;3�����	������;3�����	�� ���
��������3�,� #� <���	N3�
� <3�� �	8����3�5� ���� ���������3���� �	�	�3��	���6� `3������ 3<� 2�$��;�
Transportation
 

��(&-&=� pp. 89-()I6� 

���



A������� A6� O	5����� W6� ���
���� G6� ���� O	5����� W6 -')(%=� "���8� 23�	������ #;;	���$����5�
�	����	�<3��"�$���2�$��;�������3�����3��2������8,�#�O��	�>���5�3<��	����������
	5. Promet 
���<<�;�]�������3�����3�
 

��'P-'=��pp. ('H-(%I6 

F�;�� >�		�� -')(0=� ����,++NNN6�����		-;3�����3�63�8+<�;����		��+�����������6�����

 

-�3�� 	������
������,�)(6)%6')(0= 

`�������6 A.� G
��������6� Q�
�������F6 and _��8��C6� (')(%= O3������3��3<�;3����	��7�
�����<�;��3��������	<	�	�;	��N������$��;�������3��,�#�;��	�3<�N�83���	���;	����M��3�	6�Jordan 
`3������3<�O�����*�8��		���8
 

��I-&=� pp. &P(-&I'6 

Lorasokkay�� �6� #6�� L	��
�� G6� Q6� �	� #��������� Q6 (')(%= �3�5�� �	���9�� �3���� �������
>���	������ �������;����� ����<������ �	�	��	�������	��. ()6� "��������� �3�8�	��

 

�� ���G��
����������	�����	���G�����������V�$	��� 25-'I�*5����������6 

��������� �6 A. �6� �3	
	����� 26 N. and ���35��� S6� � -(HHH=   Z�;�	����8� ��$��;� ������3���
���
	�� ����	� ��� >3���� #<��;�,� ��	� 3���3��6�
����,++�	�6��$���56��5�6	��6��++$�����	��+'('%+P0H%
 

. 

Q8������A6�`6���3���5�
�� G6 and F�����
3��Q6� (')()= ��	�����;���	�3<���	��7������<�;��3��3<�
��$��� ��$��;� ������3�����3�� �	���;	� ��� �	�	�3���8� ;3�����	�,� ��	� ;��	� 3<� Q���3$�6�

 
����,++NNN6	����6��<3+��$��;���3��+:3��������3;		���8�+:3�����')()+())'%I6��< 

G��3���G6� -')()=��3���������"58��������������	�	��	���rilmesi���C#Q>�>��')()��"������
�3����"������>	��3�5�����	�>	�8���
 

����������	������$�����6�(I0-(I/��)'-)%�#����
�������$��6 

U��35�� �6� -'))0=� #�
���7��� ����$��� -�3����=� ������;������ �9��� �	��� ���� ���	��	�
�3�	��,L�5� �3��� U��	��

 

�� ��
�	
� M������ �	���� Gazi Üniversitesi� F	�� ������	��� *����������
Ankara. 

PTV (')((= SZ>"�-Fundamentals
 

. 2�S����<<�;��3$����5�M38����;����arlsruhe��A	����56 

2�;�	��� `6 and �3����5�N��33����� Q6� (2004= ��	� ;������ 3<� ��$��;� ������3��� ��� Z����,�
G�	�N�	����8��		���$����������	���	�3��;	�6�`3������3<�2�$��;�������3�����3�
 

��I-&=����6 (-20. 

�OC2�((HHH= ��������O���;��5� ����¢�����5�3<�>	���;	�������-Part 2��Texas Transportation 
Z�������	6 

���




